WoRKING W[ THE =STAMED NEMAL TABLe
D Tahle A S Suis

D TET et ask gy P
% Hhe arco- Dakuten 23 s
4+.%

~z 2 vesd X -—-sbau.‘rt,\— FH—-UH_
dante 52.463% « 5%,
(vdte T onded Hhe Acca
vp)

<o- ‘
Wt s dhe avce Yoctuecen —-\.25‘4»&4-\.2&'?

Q-)W:l\fs—\*kta.o— etweanc _ ‘
2 &) Araw & QAU

—ld and O . %

-4 o0
b) by summay ¥
7 ot dwde 5 « 429
2

—A4 414

- Uhak € Mer drcom ctwen )

BRI Cond o srem Ao Aot
gt 2=\ ad-
2 do Mresp Xbr nﬁg“*'ﬁt z=\0

b) w0 - 22% = 212339, toirl A=ls ~32%

O) e A\ & 23 = s o I
W;J:;(W-'ﬂfe‘-(.%))




THOSE ARG THE BOILD WL Blocrs !t
L\)Nﬁf ek e srea 4o Hee bt 3
Pt

L ? /\\
) |

A£) woiw & pictT - 1E

//ﬂ/ ' 2\ ——

efoweow~ L wank Hus
C) o«’l‘.’,ﬁ-‘% : 50% '?0_50 ba-d&“c”@“/‘{'z)

- T S
gy

1) e arcao Yoo lebb o 2270 0 .
AT 24
507, v 25 = IS ¢

OQ ul ‘!!“ : ‘
e e Ny Ji(m_-sl.u)=mzq"qs%

S1L\ T, + 24115 = 255059 © P |

[
AL H & (,
[:nole-I cay. & o muve AQte n | e en |

5) A WS'ed Aeea ! How?

> ﬂb

0 4+ 50
-.%0 o

S%  Fb.bd _ 551 w559,
AR L

>

oY 22.5% *g“"e% ) - 56-“‘70 bt 56 ‘99
(o




Normal Approximatuon — uﬂ%w’&m& coave 2 help

1) ; standwd. Yo Make stadements |
Law Schosh Admissions Te<t o \eamn more aboot
e e tnadndl SEeIsEcs
o /M;- JWHAT 9, scove ahove (L
Py

gv)’l'o ANSwer — AoV must comvevk Hae vaw Scove Yo o
2 scove and e Lok Lp B e arcx ASsocatzA

w| 2.
1L - 150 b _ -
T AT Lt = =&
Ak Ko dstibrbuon - %

g4.04
) / = oo -3 S ug o 5,59
oI &
-1¢ o

2) Broawse Sk T p. 2 # 3
447;_[24‘((%0(7. [v‘k‘)ll..ﬁo

x=30 5%
25 -0.5 ; £mddte t e o 407
. -7 L note: Freeduan FOONDS
. b el
% ponarkle TDOWN  HERZS
; appox. = =20 yo'h s A QPYOX ML
M = s .50 A—s

Clogsest 0 4 muddle o 4o |



2) &des UP + Dovon
Men's Vlewsh-’r_'; Y= A" sp=22"

4

A 23 A2l wen

\ €= -1 _ | ysic
What 6o 2.3
< talle Cround ve)
/T\%éllmh‘m?
loco -Bb.64 _
= SPRNET = = = ¢.68%
ore Yalle~

& " Aallvman
- Whok 9, ave Shoterthan Wim 2 Z = F2-69_

2 7

Yound DWN
//A | —+o (.10
T eIk (2B 30439

113
13.5%2

Sppo £ YoV wanked e top 259, —uhek & He
.2 M ) o "h:P 2575 lm?ll'é-s a mnd&’.&

25
4 DG- ‘SO'?a
A%I ~ S0

S 2s

clokstone (s o 2= ,740C

Ahea, % — 44

4=.70 = .2 So\vc.fufx




